C:# Moltiplicazioni con le griglie Nome:

Usalegriglie per risolvere ogni operazione. Risposte
1) 36x55= 2) 42x26 =
1.
a
6.
3 37x48= 4) 44x59 =
5 46x39 = 6) 47x59 =
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Moltiplicazioni con le griglie Nome: Soluzioni
Usalegriglie per risolvere ogni operazione. Risposte
1) 36x55= 2) 42x26 =
50 5 20 5 1. 1.980
: ! > 1.092
30 (30 x 50) (30 x[5)
1.500 :iLSC ) 1776
____________________ ; 40| (40x20) (40 x §)
6 A x| 800 1240
(6 X 50) ( X 5) 1
300 g ; 4. 2.596
2 [--rrso0r e 5 1.794
40 12
6. 2.773
3) 37x48= 4) 44x59 =
40 8 50 9
30 30 x 40 :30 x §
EER R -
T axay [ N
280 56 4 (42><O(5)0) (4;69
5) 46x39 = 6) 47x59 =
30 9 50 9
40 (40 x 50) (::lo x 9)
40 (40 % 30) {40 % 9 2.000 1360
1.200 360 :
: A - %9
i 350 63
6 (6 x 30) (6 x9)
180 54
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